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JANGAN BUKA KERTAS SOAI.AN INI SEHINGGA DIBERITAHU.
DO NAT OPEN IHIS SUESI'ON PAPER UNTILYOU ARE TOLD IO DO SO.

ARAHAII KEPADA CALON:

Kertas soalan ini mengandungi 6 soalan.

Jawab semua soalan pada buku jawapan yang disediakan.

Markah penuh yang diperuntukkan bagi tiap-tiap soalan atau bahagian soalan ditunjukkan dalam kurungan pada
penghujung soalan atau bahagian soalan.

Semua langkah kerja hendaklah ditunjukkan dengan jelas.

- Kalkulator saintifik yang tidak boleh diprogramkan sahaja boleh digunakan.

\'/--- - Jawapan berangka boleh diberi dalam bentuk z, e, surd,pecahan atau sehingga tiga angka bererti, di
mana-mana yang sesuai, kecuali jika dinyatakan dalam soalan.

INSTRUCTIONS TO CAIT{DIDATE:

This question paper consists of6 questions.

Only non-programmable scientific calculators can be used.

Numerical answers can be given in the form of r, e, surd, fractions or up to three significant figures, where
appropriate, unless stated otherwise in the question.

Kertas soalan ini mengandungi 7 halaman bercetak.

This questionpapercons,sts of 7 printed pages.
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For the quadratic equation axz +bx+c:0:

-b+Jb'4a;

LIST OF MATHEMATICAL FOR]VIULAE

X=

For an arithmetic series:

Tn=o+(n-l)d

s, =llzo+(n-t)dl

For a geometric series:

T' = arn-l

t,=ff,r*t

X'or sum to infinity:

s.=*, Irl.r

Binomial expansion:

(a+b)' = on +(i),'-'u.(;)n-'u'+.. + (",)o 
,u, +.. +b.,

where neN una(n'l= 'tlr) (n-r)! r!

(t + ax)' = t + n(ax). 9 to*)2 +

laxl<t where neZ- or neQ

*+.4(a,)3+...

3

CHOW
Typewriter
CHOW CHOON WOOI



y

QSO15

1 Given that (x + yi)(l+ i) = 1 +2i, ftnd the values of x and y.

2 Solve 3log, x - log, 64 +I = 0.

3 Solve the equation 42x+t -65(4')+16= 0.

4 Solve the following inequalities.

(a) izx -:] > s.

13(b) _ <
x+l x-l

15 marksl

17 marks)

[7 marks]

[3 marlcs]

[4 marl<s]

5 (a) A geometric sequence has seven terms. The first and the fourth terms are 8

and2llrespectively. Find the common ratio and the last term of the sequence.

[5 marl<s)

(b) Show that the (r +t)'n term of binomial expansion (r' **)'' .* be written

as T,*r= ['olr't". Hence, find the coeffrcient of x'.' Ir/
l7 marksl
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[r 2 ol
G Giventhematrixr=1, t ,l

[r 2 r.]

(a) Find

(i) lal

(ii) adjoint.B.

(iii) B-1.

(b) Hence, solve the following system of linear equations.

x*2y=)
y +22 =3
x+2y+z:l

END OF QUESTION PAPER

12 marksl

[4 marl<s)

12 marksl

14 marksl
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